- = . ar s 1ot pE (3] 13.DU Mar& FIseE EfR Z AP HUEIR - R &R Ze 2 ?
¥; 1t 4147 106 # B ATIE A [ R @ DDL (Data Definition Iinguage) .
@ DML (Data Manipulation Language)

# gﬁﬁw [ ) ] - .Net #2.5° E [K2313] ® DCL (Data Control Language)
BEMP C(1)BBdaIT ~ (2)3-F ik ¢ 17E x (Windows/Unix) ~ FHLE % 3(SQL ~ @ DQL (Data Query Language)
1 (1) ) (@R . 4(e N rr [2] 14.55FIBMIBR BRI » DUTZEhS FESE A — (8 SQL [RE45 2
DB2) ~ g A& # 3% (TCP/IP) ~ (3)42: & 3 (7 .NET ~ JavaScript ~ JQuery) TABLE PRODUCT;
XFE B > Fwd Bl ® DELETE
AL O EBAREF R (5) MR B d B LR Y B AR RELE SRR
foded 2R ;%LE; AR IR e R LA GRA(S)IFYF oA AL o @ REVOKE
QAL o iEe F oA A L [2E- FEERWBA S LA 5325 4] [ (1) 150 {al Fyta 54— (E Rl E it 2
#HES 13254 5 % 253204 5 % 3-4+%% 154 > £3275 A\]’ + 100 % - OFpgE (foreign key) @fFE#EEgE (candidate key)
G:F#H 41 2B ﬁgi %? FEx+HIFE Bi sjg :ﬁxi TEX 88 2 l;pjalr’ ; R IEE —‘lg.,z v A A A QOZ5|[§# (index key) @fLHEFE (surrogate key)
@AFHANFE LI HLAR T LN FRE P ERNTE > DR 2 R & A (1) 16.ZZ5T7—#rAYPRAIZCEEE - MR Hdntafytabe” » W — (R & 20K 2
B RPN EE g ggg create database at(ajc regtnctl\ée
O FHF(A)I FBRY Rt HUTT RS A RN LT AR © db2 create database abe
O@AFRHEFR* AT F A EF(G E 2P 12‘3’3{ ARSI G AR H ) 27 @ create database abc restrictive
Rl %»?EIS P ERE A +§,?155;B$:L,-7r PRT2ZTFIFEBENLG AR o SPEET (78 [2] 1775 (table) i & A FEkiH(hidden column) - fd i —RRAVE R LA B R RN b 2 700} - S50 THIfTEE ST
AT W 10 A TS ;ls., Brid ERARREIDERHREL TR DIEFEFRS By customer’ 2 = > FrAMVERL » BLEFEmEE 2 &k 2
Q%+ é, )53..43 By o AT EXZENELATE o ® db2 show table customer detail
i @ db2 describe table customer show detail
[1] 1.5 Windows S {Fig i es rl &R E(EA - EiE A TERAREXBOTFRAE T » WHBFBIEELR ? ® db2 show detail table customer
O&F: B @EE OF 53 Of /! @ db2 describe customer show detail
(1) 2 5P REFREBEIREFRAUEZER] - AR BitLocker T NFI{[EE % ? [4) 18. T H—(Ei5 S 7] LA E DB2 & i 2 FF o] e HRI & 2
AR @ db2info @ db2prod ® db2level ® db2licm
@ ZHifE (4] 19BN EFfF(instance) 2 ok - FHfal s 2
OfEFIFEA OIEMET] » o DU 2R
DL iR o OFE—BrMEs b o oI LLIEIHE AN 2 (BT
[3] 3.1/> Windows {EZEIREE N - REF B 2 BRI IE IR B {5 (icon)f% » HEEREEE /AN 2 SERTA(ER ? OFF DB2 &kl E(ERES T » TH > B “DB2”
’E‘i’%gﬁﬁ’éﬁﬁfﬁt O—{EE{H R A B —(E &
O % fE A A [3) 20.7% DB2 %4 » S 44y abe 2 ERHEERNE) » 7 DA T HI—(E$5< 2
®F#EJE515§F§FHEE§ ® db2 abc activate @ db2 activate abc ® db2 activate db abc @ db2 start db abc
ORARZIE HTE (3] 2L TR IP firhtrf > (o] 5518 By L A1 (private) 1P 484k 2
[2] 4.5> Windows {EFEZ 4 » &y T ZEH“ T{FE H & (task manager) » JEFZ N {AIfE4H G ? ® 168.168.0.0~168.168.255.255
@ (Ctrl + Al + [Inser @ 168.192.0.0~168.192.255.255
@ (Ctrl| + Delete ® 192.168.0.0~192.168.255.255
® [Shift Inser @ 192.192.0.0~192.192.255.255
@ [Shift + Delete (4] 22.:@:0177E IPsec (RHNAEIEAERS T - SR IPsec A alFFRE ?
(1] 5% WmeWS %@‘EEP_J%&FT?(DrOCESS)S’iﬁ"¥E%D‘f$”(afﬁnity) oA [ EEAE R Ry fe] 2 OfFEEENE
®7%$£F? SETTHY CPU OYE T E%fu THIER G A QI R
O BIE e E R THY IS @P%EF? S E B THE S O L EEETIAE
[3] 6.#11177‘ UNIX /%Z}EEP » RHEZE abe.txt 7 FrA HEERS 45 {813 eric ? @R UL 2 THRE
@ trans eric abc.txt @ trans abc.txt eric ® chown eric abc.txt @ chown abc.txt eric [2]) 2378 TCP Bl UDP WilE#EsRiE 2 £oit » FFIal & FRE 2
(4] 7. T HI—{Ef5 AR REE NS ? ® TCP JBy2z4: 1 (di
® more @ cat ® head @ cmp @ TCP a5 (il
[4] 8. T7IF—({E+5< R 5 IEIFEZE abe.txt ? ® UDP fyZFa (i
@ lprint abc.txt @ print abc.txt ® Ipt abc.txt @ lpr abc.txt @ UDP Jyr] St (e
[3] 9. 1§;§E£?Iroot EP@A:ﬂ’fm*/root/testdlr/ﬂIea Iroot/files/filea Eii/root/files/fileb » N5 —35ETH Ay (FHfE ? [4]) 24. FHIEF09H55E (protocol) > )& B 4BFE4ERE BT FH 2 B% FH (routing) 74 & 2
®F5%4 find files —name filea $gJHj/root/testd|r/f|Iea Eii/root/files/filea ® RIP (Routing Information Protocol)
@754 find / —name filea -print i H/testdir/filea E51 /files/filea @ BGP (Border Gateway Protocol)
®#5% find /root —name filea - prlnt gy /root/testdir/filea Eid/root/files/filea ® OSPF (Open Shortest Path First)
@F5% find —name ‘file*’ -print &ifif; J,Hj/root/testdlr/fllea Eii/root/files/filea @ FTP (File Transfer Protocol)
[4] 10.FEANZFH H $RN A ﬂlgﬁ—fﬁﬁﬁhwfﬁg—rﬁk » A DUSE R —{E 5 < 2 [1) 25 A kS 4% 3% DHCP (Dynamic Host Configuration Protocol)i5e15 » 3% R B i1y Byfa] ?
®lIs-s @ ls-l ®ls-l @ Is-a O EHEEVE IP firhE
[3] 1155 LA T ZE A& EE A —(E SQL REFF ? @ HEHS4E -~k
SELECT P_SALECODE, MIN(P_PRICE) FROM PRODUCT O H B E A e e
BY P_SALECODE; @ 5 B G A
® WHERE @ ORDER ® GROUP @ CHECK
(4] 12.DUMuE nIfE B R EE AR a Ry ~ B0 - MR E RS S A e BT ?
OTEFFERE (stored procedure) @7 (reference)
@& 5] (index) @fifgEt (trigger)
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e w R v FTAER o X B A -
(—>FLEV%£'% REEICEF? [64]
(Z) AR L33 vakerfpd s 2% 1§ gfafnp -[64]
(=) R FRS Q“%¢f% 1R A2 B s E ? [64]
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BAh% 5 ASPINET 11 CHEL (Fenge T 4250 » strFﬂ

)ied BRAAEELMGERP 22 A FAEMN? [64])

) 3%AE N HEFRSRER gJ_Iﬁaf‘Lﬁ« 2% 7?2 [5 4]
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(a) Test.aspx

<%@Page Language="C#" AutoEventWireup="true" CodeFile="TextBox_Calculator.aspx.cs"
Inherits="Ch03_WebControls_TextBox_Calculator" %>

<IDOCTYPE html PUBLIC "-//W3C//DTD XHTML 1.0 Transitional//EN"
"http://www.w3.0org/TR/xhtml1/DTD/xhtml1-transitional.dtd">

<html xmIns="http://www.w3.0rg/1999/xhtml">
<head id="Head1" runat="server">
<t|t|e>$%J » BcF o iR 7 B <ftitle>
<style type="text/css">
.stylel
{
background-color: #FFFF66;
}
</style>
</head>
<body>
<p>
ﬁig?l »BcF o T E o &nbsp;&nbsp;
</p>
<form id="form1" runat="server">
<p>
<asp:TextBox ID="TextBox1" runat="server" Width="46px">0</asp:TextBox>
&nbsp;+
<asp:TextBox ID="TextBox2" runat="server" Width="46px">0</asp:TextBox>
&nbsp;+
<asp:TextBox ID="TextBox3" runat="server" Width="46px">0</asp:TextBox>
&nbsp;=
<asp:Label ID="Labell" runat="server" Style="font-weight: 700"></asp:Label>
</p>

<div>
&nbsp;<asp:Button ID="Button1" runat="server" Text="F 453+ & "
OnClick="Button1_Click" />
</div>
</form>
</body>
</html>

(b) Test.aspx.cs

using System.Web.Security;

using System.Web.Ul;

using System.Web.Ul.HtmIControls;

using System.Web.UlL.WebControls;

using System.Web.Ul.WebControls.WebParts;
using System.Xml.Ling;

public partial class Ch03_WebControls_TextBox_Calculator : System.Web.Ul.Page

{
protected void Page_Load(object sender, EventArgs e)
{
}
protected void Button1_Click(object sender, EventArgs e)
{
int sum = Convert.Tolnt32(TextBox1.Text) + Convert.ToInt32(TextBox2.Text) + Convert.ToInt32(TextBox3.Text);
Labell.Text = Convert.ToString(sum);
Response.Write(" &K% 17 ");
}
}
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TROREE S - FPAES > RS A EFE S 2 B Flapdb R P
H oo pte PRt e 48T 5o
1. 2:E[Add to Carts]dde > € #-38 P %54 » pd» 2 i (myCarts) » T A7 &% =
FIF M| o P> [Add to Carts]4t4= ¢ 2 % = [Cancel It]#4 -
2. # miE[Cancel It]ide - § %38 p SRyl 2 R4 (myCarts) 2 % - 3BT B AT
TR S = AT o s [Cancel It]#4= ¢ 2% = [Add to Carts]44= -
3. Ehif[Purchase]#4= € 11 CGI 5 27 POST = 34 % {3 =53 1) request 5 & © #3437
F URL &_ : http://somecompanyXXX.com/purchase - request % #c ¢ 3=
purchaseData > p 3 i * 7:{ ¢ (name) fr3 P %% ¥ (productldList)

Description about Product] placed here)|  Description about Product? placed here]  Description about Product3 placed here!|  Description about Productd placed here!

Picture] Cancel It Picture? Cancel It Picture3 Add to Carts Pictured Add to Carts

Your Cart: p001 , p002

TH AR B YR (Lvi4aM CSS R E ) iy mEE NS (B
JavaScript 454 ) 1 BT £ g ic ende T (G * i & W3C 2 s JavaScript 45 £
R %&%?%ﬁﬂiﬁﬁ% FRERERY S - - "g*—f,h’!iiﬂ%ifggé‘f#p R o)

JavaScript #2545 :
<html|>
<head>
<title> TEST HTML Interaction With JAVAScript </title>
<script>
var myCarts ;
function initData() {
myCarts={ /3K T & 44 F
name:"userXXXX", productldList:[],
display: function() {
this.productldList.length >0 ? this.productldList.join(", ") : " Your Cart is EMPTY!" }
3
}
function showMyCarts() {
document.getElementByld | ( — ) [2 %] |innerHTML = [( = ) [2 %] | //3Em0 myCarts #9
/ldisplay BB R TR
IEREE=5EAS £

}
function confirmMyCarts() { /2L POST Z R [ &% H request FES
var answer = confirm("Mr./Mrs. " + myCarts.name + ", are you sure to purchase " +
myCarts.productldList + "?");
if (answer == true) {
var purchaseData = JSON.stringify(myCarts);
var frm = document.getElementByld("purchaseForm") //BX4§ purchaseForm &RE T &
document.getElementByld | ( = ) [2 %] | //FRE request 2# purchaseData K&
frm.action="http://somecompanyXXX.com/purchase" //f%3E request & im @R URL K&

[(m) [2 %] ] /75 H request
} else {return ;}

}
function updateMyCarts(button){
varpid= (&) [2%] | /BSEREE R
var index = myCarts.productldList.indexOf(pid) ;
if (index ==-1) {
myCarts. ( /) [3 2] | /R FARES push()IE A INA B RiRE
button.innerHTML = "Cancel It" /B &£ 2X button R EZ &
} else {
| (£ ) [2 2] |splice(index, 1) //F) FAREF splice()35 4 MIBR E R w5k
button.innerHTML = "Add to Carts" /38 E £ button 1R & &

}
showMyCarts();
}
</script>
</head>

<body onload="initData()"> <!--%{#R2HBER -->
<div id="menuBar">
<ul class="menultems">
<li>Fun 1</li>
<li>Fun 2</li>
<li>Fun 3</li>
<li>Fun 4</li>
<li><a onclick="confirmMyCarts()">Purchase</a></Ii>
</ul>
</div>
<div id="productArea">
<ul class="productltems">
<l-- EmIEB w2 B2 p0o01, p002, p003, p004 -->
<li><p>Description about Productl placed here!</p> <img alt="Picturel” />
<button id="p001" onclick="updateMyCarts(this)">Add to Carts </button></li>
<li><p>Description about Product2 placed here!</p> <img alt="Picture2" />
<button id="p002" onclick="updateMyCarts(this)">Add to Carts </button></li>
<li><p>Description about Product3 placed here!</p> <img alt="Picture3" />
<button id="p003" onclick="updateMyCarts(this)">Add to Carts </button></li>
<li><p>Description about Product4 placed here!</p> <img alt="Picture4" />
<button id="p004" onclick="updateMyCarts(this)">Add to Carts </button></li>
</ul>
</div>
<div id="PurchaseFrom">
<form id="purchaseForm" method="POST">
<input type="hidden" id="purchaseData" name="purchaseData" />
</form>
</div>
<div>Your Cart: <div id="myCartResult"></div></div>
</body>
</htm|>

(5 #a= ]
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1. FEBIZE#RAPF > €3 7ok BrEF IR0  BIEFF I KRG
#BDBDBD 4 ) - = & (cursor) ¢ % = 3 #=77% (pointer) -

2. 2LiE[Add to Carts]dtdz= > € #-38 P %%l (& t<button>4&ftcrid L p ) 4o » pF-
B g8 (myCarts) > F &1 &% = 7T+ o ppF o> [Add to Carts]dé4= ¢ 2% =
[Cancel It]4%4= -

3. f mE([Cancel It]Hde > § #37 F il ifidr 2 i (myCarts) 2 % - 3 BTm B AT
TR S = AT o s [Cancel It]d4= ¢ 2% = [Add to Carts]44= -

N

Description about Product] placed here!|  [Description about Product2 placed here!|  [Description about Product3 placed here!|  [Description about Product4 placed here!|

Picturel Cancel It Picture2 Cancel It Picture3 Add to Carts Picture4 Add to Carts

Your Cart: p001 . p002

T s T RN P (AP CSS® T )i F R B~ 255 (1 jQuery
L) ET LA LSRR
<html>
<head>
<title> TEST HTML Interaction With jQuery </title>
<script src="https://ajax.googleapis.com/ajax/libs/jquery/3.1.1/jquery.min.js"></script>
<script>
(=) [22)§ /i~ 23554 % 2558 (Document Ready Event Function)
myCarts={ /K 2P 2 4=4op %
name:"userXxXxXx",
productldList:[], display: function() {return this.productldList.length >0?
this.productldList.join(" , "): " Your Cart is EMPTY!" }

$(( =) [2%] ).hover( //41* hover % i* » =451 % H # i % (Fun1, Fun2, ...)s% i > 4e
I7 5 e 1 rit

function(){$(this).css({"background-color": "white", "cursor":"pointer})} ,
function(){$(this).css({"background-color": "#BDBDBD", "cursor" : "pointer'})}
);

$((=) (241 )on({ /41* on() 45 % - 4=4-<button>= % rclick F £ » hos it 2R4s 2, 3 #1it
"click": function(){ ( @ ) [3 %] |} }
);

} ol EIp g E

=

o3 ;7\“ ik

-

function doPurcahse (purchaseData) { //Fx:3bftf 75 > w3 PIREBEF N E K
I+ B A7 38 £k
}
function showMyCarts() { // %‘g d =¥ vd myCarts srdisplay &3¢ 3o B FTRES T A S Z ST
(F)I[45]

}

function confirmMyCarts() {
Il ~E AR5 Lok

Il hew i Hote 2, 3 #ritt
/I ;2% :button %#% - B jQuery-selected ~ %
function updateMyCarts(button){

varpid= [ (AN)[25]) | II># 4 55 P %5
var index = myCarts.productldList.indexOf(pid) ;
if (index ==-1) {
I+ B F258 2ok
}else {
I B A2 5% 2ok
}
showMyCarts();
}
</script>
<style> ...... (P Egg) ... </style>
</head>
<body>

<div id="menuBar">
<ul class="menultems">
<li>Fun 1</li><li>Fun 2</li><li>Fun 3</li><li>Fun 4</li>
<li><a onclick="confirmMyCarts()">Purchase</a></Ii>
</ul>
</div>
<div id="productArea">
<l-- & 538 P Y%~ b §_p001, p002, p003, p004 -->
<ul class="productltems">
<li><p>Description about Productl placed here!</p> <img alt="Picturel” />
<button id="p001" >Add to Carts </button></Ii>
<li><p>Description about Product2 placed here!</p> <img alt="Picture2" />
<button id="p002" >Add to Carts </button></li>
<li><p>Description about Product3 placed here!</p> <img alt="Picture3" />
<button id="p003" >Add to Carts </button></Ii>
<li><p>Description about Product4 placed here!</p> <img alt="Picture4" />
<button id="p004" >Add to Carts </button></li>
</ul>
</div>
<div>Your Cart: <div id="myCartResult"></div> </div>
</body>
</html>



